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the students’ responses to questions and that every associate understands and applies it in the same
correct way. As preparation for standardisation each associate analyses a number of students’
scripts: alternative answers not already covered by the mark scheme are discussed and legislated for.
If, after the standardisation process, associates encounter unusual answers which have not been
raised they are required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular
examination paper.
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Unit 1

Criteria for Assessment

The assessment objectives will be allocated in the following way.

% of AS Marks

AO2 Response to written language 75 75
AO3 Knowledge of grammar 25 25

TOTAL 100 100

The marks will be allocated in the following way.
AO2 AO3

Section 1 35 10
Section 2 10
Section 3 30 15
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Section 1

Insert 154

Q Accept Marks | Reject / Notes

1 | A9aTg 3 oF S famr J fa Ardwt Agargt feg afdent Is fa 1
% Hagdt y3H Ja feSt Aeaft Ug Ad 5§82 T3 |

Q Accept Marks | Reject / Notes
o TH IEM fEY AT 29T, Any
three for
o et 3 33 HiAT, 1 mark
o g2 UTSH gae At
o 3T T e BT A STl feelal 96 € ofH dae
Y ATHICE I |
Q Accept Marks | Reject / Notes
1931 ST TI3 T T8 MBT T wae J, (Fh) Harerm3 Jg 1

H"E_SETWIHHﬁ, W3S AdAT|

Q Accept Marks | Reject / Notes

ot § WU I J9 % Bl / €3 398 S Hagdt 1+1
JISTUEJ |

BT HIR fEg IH Id5 5B FaHTI IAIE TS |
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Q Accept

Marks

Reject / Notes

AgeTd @8 ATd gfontt § fHftmr e S dfm it gt 9 | 1+1

Ud e U3& Ae® &dt I 94/ fegt & et wing &dt I faar |

Q Accept

Marks

Reject / Notes

T Iy ITT AT II IS |

feg ninv feaATs 234t fidedht BT g9 Au &t adt Fae |

Ag I Tu gz el oS feg I fa dfanie feg o&3 Bt 1+1

Q Accept

Marks

Reject / Notes

AId B HB I THIIS ST BI J |

1% Haedt & i 98 996 St AN Hed HAETe § !

Q Accept Marks Reject / Notes
8 (i) |f&at faant fifet 1
8 (i) |3 1
8 (i) | gggTa 1
8(v) | frsH™S 1
8(v) |3fey 1

Total 5 marks
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Insert ™M
Q Accept Marks | Reject / Notes
39 & YAt Hfemtat & 593 Ao gafemT J | 1+1
fer 91% &t umdt feg I1% aaet J fa Suai SAg 3°<y
feat &t Heg3ra7d f@hmr J |
Q Accept Marks | Reject / Notes
10 o UdHIHfoMg €83 J | Any two for
two marks
o MU A3 THI BI A J | 1+1
e TY-YYIH T IG G HaE I
o MU UfGE g AU C AIET J |
e (Accept HHE3 fege Tat )
Q Accept Marks | Reject/ Notes
11 | et aq (9 gz Wi, S ft, ot it et + 1
Jfg 3 fod3 o7& ga et AeT J |
Q Accept Marks Reject / Notes
12() |31 IS3 1
12G) |2 uyzrsdt 1
12 (i) |5 B 1
12 (iv) RIEGISES 1
12(v) |31 JI&3 1

Total 5 marks
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Q Accept Marks Reject / Notes

13 () | 3a Any Appropriate sentence in Panjabi 2 Wrong word
13 (i) | BT Any Appropriate sentence in Panjabi 2 Wrong word
13 (i) | If¥H3  Any Appropriate sentence in Panjabi 2 Wrong word
13 (v) |3Hdd  Any Appropriate sentence in Panjabi 2 Wrong word
13(v) |3JrdE  Any Appropriate sentence in Panjabi 2 Wrong word

Total 10 marks

Total marks 35 + 10 marks

Knowledge of grammar AO3

Total for Section 1 = 45 marks

Marks Knowledge of Grammar (AO3)

9-10 The knowledge and use of most structures is good. There are still some

7-8

5-6

3-4

inaccuracies but these are usually in attempts at more complex structures.

The manipulation of basic structures is generally sound. There are attempts to
use more complex structures, but not always successfully.

There is some awareness of structure. There are still basic errors but
communication is generally maintained.

The level of manipulation of structures and the number of errors make
comprehension difficult.

Shows very limited grasp of grammatical structure. Errors are such that
communication is seriously impaired.
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Section 2
Translation into English

A lot of people spend most of their time at work. No one wants to be stuck in a stressful job. It is
disheartening to know that only 48% of British people are happy at work. Almost two thirds of them
are people who chose the job they liked but now they are not satisfied.

It is not possible that any job will be 100% appropriate. But if you do not like your job then perhaps
the time has come to search for a more interesting job. A number of problems can be resolved by a
fresh start with a new company.

Marks Response to Written Language (AO2)

9-10 Very good understanding of the original and translated accurately in a
language that has a wide range of vocabulary. Excellent spelling,
punctuation and grammar.

7-8 Shows good understanding of the original and translated in a language
that has a wide range of vocabulary. Accurate, with only a few minor
errors in spelling, punctuation and grammar.

5-6 Shows satisfactory understanding of the original and translated in a
language that has a limited range of vocabulary. Errors in spelling,
punctuation and grammar are intrusive and affect comprehension.

3-4 Shows poor understanding of the original and translated in a language
that has a very limited range of vocabulary. Errors in spelling,
punctuation and grammar impede comprehension.

0-2 Little or nothing of merit.

Total for Section 2 = 10 marks
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Section 3

Students may elaborate on these points in their article. If they write something relevant to the sub-
topic, that will be awarded marks as well.

T3t fiedft fee Hafeg e e ds
o & faatafg st AT
o ITIEATIBIAIEAT I

e JBI3IIES BE, HEIAS BT g3 7l
fEead e o8 Hafes & @ erfee m3 gaAs

o T HIHI M3 8 Hawt ATeddt & Ad, @2 g 8

o TSE ! HS Al @3 96 € 33 &It

o TBI3 I W3 I IHT FEt HETfes S €t 23" famimer
Hefes 35t 5% AgS feg T gdimi HRest

o goifdarnfe &t mHfret

o JJITB A LT UZs Bl S gaeet UeTdae I8

o NETES 3& 991 7 gH I 3 mtpruart € AN &t ggamet
AgS 9 Hafes 3 €t =93 Aedl fowH

o SFstEANfEguEdt

o feg@mY e fagdad sufageye R eds”

o AISEYITE 3B HI YA ERI 3TII IIS N U
AgS fou NS & &t 9153 293" 996 @3 SEt A

e HITEBIEBIAIH € AN g euR T

. IS CTTIZIT TS & daHTaT

o JTtIICfIzHS™
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Section 3

Marks Knowledge of Written Language (AO2)

25-30 Relevant points are clearly made. The answer is focused on the
guestion and offers ideas which are logically and clearly developed.
Good personal reaction, usually justified.

19-24 The answer is generally on the subject with a number of relevant
points, but not always appropriately supported.

13-18 Some relevant points are made, ideas are not clearly organised. Some
reaction is evident, but points made are not always justified or
illustrated. The answer generally lacks a clear focus.

6-12 A limited number of points made, many of which are vague or
irrelevant. No justification for points made.

0-5 There is little or nothing of relevance. A zero score will automatically
result in zero for the question as a whole.

Marks Knowledge of Grammar (AO3)

12-15 The knowledge and use of most structures is good. There are still some
inaccuracies, but these are usually in attempts at more complex
structures.

8-11 The manipulation of basic structures is generally sound. There are
attempts to use more complex structures, but not always successfully.

5-7 There is some awareness of structure. There are still basic errors but
communication is generally maintained.

2-4 The level of manipulation of structures and the number of errors make
comprehension difficult.

0-1 Shows very limited grasp of grammatical structure. Errors are such that
communication is seriously impaired.

Total for Section 3 = 45 marks

Total for Unit 1 = 100 marks
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Mark Ranges and Award of Grades

Grade boundaries and cumulative percentage grades are available on the Results statistics page
of our website.

Converting Marks into UMS marks
Convert raw or scaled marks into marks on the Uniform Mark Scale (UMS) by using the link below.

UMS conversion calculator www.aga.org.uk/umsconversion
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